® Va2

ANl B4l dolE q, b, c2} 5
2(ab + bc + ca) = 52
4la+b+c)=36 > a+b+c=9
207 gzl o))

N

= /(a+b+c+)?—2(ab + bc + ca)
= V81 -52= 29




2. x=V3+ V2012, a= V3+1Y W, ¢ 42243 O] gL FEh?

2- V3
O @ —
2- V3 +

@2 © =

4+

B3

2v3-3
4

©)

&

(i)x=V3+ V29I x- V2= V3
¥ -2V2x+2=3
L x2-2V2x=1
(ii) a’ = g2 V243 — pP2V23 2
1 2-43

a2 2




3. - =299, {(a+b)"+ (a-b)">-{(a+b)"—(a-b)"}*9]

°9

@ on @ 2n+1 @2n+2 @ 2n+3 @ 2n+4

B

(a+b)"=A, (a-b)"=B
(£4) = (A? +2AB + B?) — (A* - 2AB + B?)
= 4AB
=4{(a+b)(a-b)}"
=4x2"
— ont+2




4.

che thgA o] Al A4

(1+x+x%)2(1+x)

+ (1 +x+ 2%+ 2%)7°

@ 3 @ 4 ®5 @)6

~&B

®7

) I+ x+x%)2(x+1) 9 A A
P14 x+a?)? o] A 1S 5

2 o,
A%=2

(14 xt 2229 G5l 18 B ),
As=1

i) (14 x+x%+x%)3 9] LA} Ao
x+x?+x3 =Yy2F5HH,
(Y+1)3=Y3+3Y2+3Y+1
3Y = 3x + 3x% + 3x3
Azeo] Alg= 3, ohE2

Fofl= datgo] it
i), ii)olAd2+14+3=6




Pl a2 + b2 +c2 =ab+be+ca

0]

ol Hl ¥ie] Zo] a, b, ¢ ol Hh

&
P42+ =ab+bct+calla?+b>+c2—ab—bc—ca=0

1
§(a2—2ab+b2+b2—2bc+02+02—2ca—|—a2):0

=(2a® + 2b? + 2¢% — 2ab — 2bc — 2ca) = 0

2
1

™

{ta-b>+(b-c)®+(c—a)?}=00°]

0

FolB2 g-b=0,b-c=0,c—a

1
act/g
= = C

, b
a

1
2

a




b =3 b O G 4 o) g Az Fehu?
(2, x>0)

@ 5,6 @7, 18 ® 8, 16

@ 9,18 ® 10, 27




1 1
2t = 14> 0) D W, 4 — 9 e
X X

@ 36 @ 44 @52 @ 68

® 82

1 1
P4+ = =(x+=-)-20|E=
x x

1
- =4(- 0
X+ (- x>0)

1 1 1
3 — 3 —
X +§—(x+;) —3(x+;)—52




8. AFabcoll st a+b+c=6,a%+b%+c? =125 HEZT o,
a® +b° + % o] & F5HH?

@ 8 @ 16 @24 @ 36 ® 42

B ~
TA a2+ b2+ = (a+b+c)?-2(ab+ be + ca)oll T
42 TRlste]

(ab + bc + ca) @ F-& Fo14A (ab + be + ca) = 12

a® + b + ¢ = 3abc = (a+ b+ c)(a® + b* + ¢*> — ab — bc — ca)
oA

a®+b*+c?—ab—-bc—ca=0°B=2

S @=b)2 + (b=0)? +(c=a)?) =0

La=b=c=20R2 g% +b> 43 =24




tZhi o] o)zt 28 0], mE A |2l Zo]o] go] 176 <] ]
Ao 2EolE ot €, th= oA AR EE A2 7

@ (x—a)(x-b)(x—c)
=x3~(a+b+c)x* + (ab + bc + ca)x — abc

@ Slla-b7+ (b= + (c-a)?)
=a’+b*>+c*—ab-bc-ca

@(a+b+c)2:a2+b2+c2—|—2ab+2bc—|—2ca

@ (x+a)(x+Db)(x+c)
=x3+ (a+ b+ ¢)x* + (ab + bc + ca)x + abc
® (a+b+c)(a®+b* + c* —ab — bc - ca)
=a®+b% + 3 - 3abe

~&B

A &HA o] 712 0] do], 2] 4
ZY7} a, b, c2F SHA tjZHA o] Ao
Va + b2+ ¢ =28

LAl b+ =28%-..09

E, BE 2A2E] dolo gF2 176°0] 2%
4(a+b+c) =176

“a+b+c=44---©O
o] uff, Z-gA| 2] Byl ol 2(ab + be + ca) O] B2
(a+b+c)?=a?>+b?+c?+2(ab+bc+ca) - ©
42bA @, O ©oll tidste] 2R olE F5H4 11520tk

Hir
i

o]

rr o,

o
Rkl



10. F A xyol tiote] x2 4y =7, x+y=3 & o, x5 +y5 9] ZI=
T-shodzt.

Ch "
H -

>
> =g 123

(x4+y)2=x+y*+2xyoll A 32 =7+ 2xy, xy=1
(x+9)3 = x>+ 93+ 3xy(x +y) oA x® +y2 =18
4y = (2 +y°)( +y%) - Py (x +y)
=7x18-1°x3
=123




1
X
1 1\* 1
x3—|——=(x+—> —3(x+—>=1—3=—2
X 1
1 1 1 1
(x2+—2> <x3+—)=x5+—5+x+—
X X

(—1)><(—2):x5+xi5+1

1 _
X4 = 19] ofHol| xE FotH
¥-x+1=0,(x+1)(x*-x+1)=0,

1
x3+1:0,x3:—1,—3:—1
X

1 1 1
5 _ 2 _ 2
x—i—;——x————(x +—2>

=




12.

x+y=2 x4y =149 o, x5 +y° 9] FtZ FoFH?

O 12 @ 32 ® 52 @82

B

® 102

By = (2 +y?) (0 +5%) - Py (x+y) - (3)
x4y = (x+y)° - 3xy(x + )
© 14 =8 —6xy

P4y =(x+y)?2-2xy=4-2(-1)=6------ ©)
@, @, @2 (x)°fl dHUsHA
B+ =6x14-2=82




